
HOOD INSTALLATION MANUAL

ENGLISH V 1.1

BOXTER

https://manuals.plus/m/335e245361ff45cfe1e86a385961b2044ad8bfa9ee9952c24330cf23482b8181


3

2 KIDS HOOD - PARTS

2

front

front

rear

rear

16x M3.5x13 screws

8x turn locks

4x hood frame brackets

2x Velcro stripes

1x 2 kids hood fabric

8x M3.5x13 screws

2x 2 kids frame tubes

2x frame bridges

4x DIN 912 M4X8 bolts

TRIOBIKEMODEL: XXX

COLOR: YYY



5

4 KIDS HOOD - PARTS

4

16x M3.5x13 screws

8x turn locks

front

front

rear

rear

4x hood frame brackets

2x Velcro stripes

1x 4 kids hood fabric

8x M3.5x13 screws

2x 4 kids frame tubes

3x frame bridges

6x DIN 912 M4X8 bolts

TRIOBIKEMODEL: XXX

COLOR: YYY



6 7

INSTALLING THE HOOD

1- Open the box and place the parts on a flat and clean surface.

2- Apply 2 Velcro stripes on the box front, in the positions marked by the red circles.

3- Take the 4 mounting brackets and mount them on the prepared positions using 2x 

M3.5x13 screws on each bracket.



8 9

4- Take the 2 side frame tubes and insert them into the front and rear brackets pins. The 

big holes have to point to the outside.

5- Take the 2 (2 kids hood) or 3 (4 kids hood) short straight bars and fix them to the side 

frame tubes with the DIN912 M4x8 screws.

INSTALLING THE HOOD INSTALLING THE HOOD

big hole on 
the outside

frontrear

small hole 
on the inside



10 11

6- Take the 8 turn locks and mount them on the prepared positions, shown by the red 

circles, using 2x M3.5x13 screws on each lock.

7- Take the fabric cover and put it on the frame, placed symmetrically. Close the Velcro 

stripes placed on the inside of the hood fabric, in the positions shown by the blue circles, 

around the metal frame.

8- Fix the fabric cover with the turn locks, twisting them.

INSTALLING THE HOOD INSTALLING THE HOOD



TRIOBIKE A/S

Vesterbrogade 149, 1620 Copenhagen V - Denmark

phone: +45 3670 0070

info@triobike.dk | www.triobike.com

TITLE


